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1.
Perform the following calculation and give the answer rounded to the correct number of significant figures
(15.562 – 15.512) x 100.0

a)  5             b)  5.0           c)  5.5               d) 5x10o           e) 5.0x101
2.
Convert 3.6x10-2 g/L to mg/cm3.


a)  3.6x102                   b)  3.6x10-1               c)  3.6x10-2

d)  3.6x10-5                  e)  3.6x10-3
3.
The boiling point of a liquid substance is 77.0 K. What is this temperature in Fahrenheit?

a)  -321           b)  -289           c)  -353           d) 139          e) 171

4.
Which is the correct formula for copper(II) phosphate?

a)  Cu2PO4                b)  Cu3(PO4)2            c)  Cu2PO3

d)  Cu(PO4)2             e)  Cu(PO3)2
5.
Which of these choices is the formula for bromous acid?

a)  KBr         b)  HBr         c)  HBrO        d) HBrO2      e) HBrO3
6.
Calculate the number of moles of copper in 2.50 kg copper


a)  39.5            b)  3.93x10-2       c) 3.93        d)  39.7       e) 39.3

7.
A compound containing only oxygen and chlorine is 53.0 % oxygen by mass. What is the empirical formula?

a)  ClO           b)  Cl2O       c)  ClO2           d) Cl2O5      e) Cl2O3
8.
Methanol burns up in air according to

2 CH3OH  +  3 O2  (  2 CO2  +  4 H2O


What mass of methanol should burn to produce 165 g H2O?


a)  147          b)  165          c)  393         d)  73.3        e)  1.4x102
9.
According to the reaction
NO  +  O3  (  O2  +  NO2

If 0.670 g NO reacts with 0.740 g O3, how many grams of NO2 will be produced?


a)  1.41          b)  0.709          c)  1.07          d)  0.709         e)  0.740
10.
Given   6Li(s)  +  N2(g)  (  2 Li3N(s).    If 12.3 g of Li react with 33.6 g of N2 to produce 14.0 g Li3N calculate the percent yield

a)  16.7            b)  85.0          c)  68.0        d)  55.0       e)  54.0

11.
Based on the solubility rules, which of these processes will occur if solutions of CuSO4(aq) and BaCl2(aq) are mixed?

a)  CuCl2 will precipitate; Ba2+ and SO42- are spectator ions.


b)  CuSO4 will precipitate; Ba2+ and Cl- are spectator ions.


c)  BaSO4 will precipitate; Cu2+ and Cl- are spectator ions.


d)  BaSO4 will precipitate; Cu2+ and SO42- are spectator ions.


e)  No precipitate will form.

12.
The oxidation number of  N in NaNO3 is


a)  +6            b)  +5             c)  +3             d) -3             e)  -5

13.
Which of these equations does not represent an oxidation-reduction reaction?

a)  3 Al  +  6 HCl (  3 H2  +  AlCl3

b)  2 H2O  (  2 H2  +  O2

c)  2 NaCl  +  Pb(NO3)2  (  PbCl2  +  2 NaNO3

d)  2 NaI  +  Br2  (  2 NaBr  +  I2

e) Cu(NO3)2  +  Zn  (  Zn(NO3)2  +  Cu

14.
Complete and balance the following redox equation in a basic medium. What is the coefficient of OH- when the equation is balanced using the set of smallest whole-number coefficients?
MnO4-  +  I-   (  MnO2  +  IO3-  (basic solution)


a)  1           b)  2           c)  4             d)  10          e)  none of these

15.
Calculate the mass of MgCl2 in grams  required  to prepare 5.00x102 mL of a 2.80 M  MgCl2  solution. 
(Molar mass of MgCl2 = 95.2 g/mol)

a)  133          b)  160        c)  106         d)  66.5          e)  84.8

16.
How many milliliters (mL) of a 0.276 M HNO3 are needed to neutralize completely 125 mL of 0.0120 M Ba(OH)2 solution?

a)  35.5           b)  15.0        c)  1.15          d)  5.43         e)  10.9 
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